&

; . ANA Sunpiect . r\‘((lm @nﬂ.ﬁ% (04\)
T P S

% E & Day & Date ot the Examination

90 Maxch 13 wedneday ¢

w21

] wedium of answeting the paper: . m%};h s N SR

yET TE # HE0 1A e el 2wty — -
Write Cuda Ne. as writtec on the ; EB/l
4 top of Questior o
*_E afridan gae qftas B @ He : MA.l |
. No. of Supplementary answer-book{s) used 1 i

P snde Amind & wiride ® oo @afta of 3wl Fromi=y ormmig |

1 Physicaily chaliengad, i the category
[2) » I
it |
H .
i % 5 - ;
B p=TE T OUR K= WRIRE TR fEAv s s WS, G = aeia
v
j 8 = Blind O = Deaf 4 Dumb H = Physically Handicapped, S = Spastic, C = Dyslexic
I e
i Fu daa fafhe anee evwa e g /A8 !
i ! N O
' Whether writer provsaec Yes / No |

‘ *w@ﬁﬁ\-aﬁa&?%ﬂiamﬁm&mmﬁiﬁawwﬁaﬂméluﬁ
el 1AM 24 SER B ARG B @ dEE AW B wer 24 R # R

L Each letter be written in one bax and one box be left blank between each part of the ¢
name. In case Candidate's Name exceeds 24 letters, write first 24 letters. i

B
|
|

aafea saqty b fag

Space for office use




poK

any

any
ked

= W
& T

e e i 1
@

i out
30K 10
.:oflha
it the
1all ce
_}la*.m
ind or
bguen
ic

far the
ars n
book

natinns

. i&af“j

S

SIS gt ety iy @1, ot
Central Board of Secondary Education. Delhi

@ifrr e aféfeane udizn (@ qivedl)
SENIOR SCHOOL CERTIFICATE EXAMINATION (CLASS XI)

gyEe Ae @ AER AR gl wY R AR g 9 enT S R
Certified that I/We have evaluated this answer-book according to the
correct set of question paper and strictly as per the marking scheme.

——
.



L dad (3 - e (B) = %-(ﬂ~w4(ﬁ))= E«(n-%): -5 = M= R /

4
% Il
i3 Koy pkeu ¢ uhen O +0=C &0 tHog=0 > 4-2=0 = A=
o Ayt ; //
i [
*. A= 1 ) a2 kl -\Mt 1} o 921=201 -11= 2A ~plon . k=2
J [-1 iJ ? _‘ i A \ [’? Q;\ L-‘, !J ___/
§. Y=mx Dz)g:mﬁo.ﬁng Wk 2 ad_L‘(: m Y= xé@i //'
P 342 .
M = ~ (4 2 9|= —{g-30)k=2 = Pao= B299 = 110 =
St 6 Oy 5, hy= (Y \6 43 (8-30)= 22 O3, Az, ) e o
E 4 , \f\\
L @D mor- _Q 2(30-26)-2(@40) = 5E—36 @Q-4b = -G+4D Q\
It MW - 2;—"2 =1 / >
T
L 8 ) —F _
] O quwut ved®e, 1al=1
1i . w - P iy j g —_ = o sy
] Now (-0 (@+8)= X -@xX+ LA -0 =15
,f Usng  @F=1aF and  GF=HA, wegar 1EId= 15 > R 6 41= 16



Kl=+4

ROO= 3x% 36x+6
R MR(M= RM= x+36

)| Wing dutance |euulla : d= |0by, czid) =

- laps

R'(9)= 30436= €6

§ e wallooe 6 omplayes B o nice Trine

ﬁm should be a groudde fin Hadsing unds (on m wszl{)am. /@J\_m empw&m

:' - i&, -F(x x4
o ,iLBgl‘b )

7 f('l’l) Ff’xz)

= 1+4 A4 > (’K,l"(z)('xﬁ"ﬁz) O
< %20, %70 -~

SECTION-B

¥ 7112 6R¥ o

xl“\'{Xz >O

0@+ 063 &) 211 = 2=
S o

|
R Ia—

H%W |

T IS -



Tt @@ne (injective)

ek q ¢ > %= m {fr«m ﬂqedﬁd 4T3 x>o}
o Ueasdy, ol vidues qm b  Co-demodn /saﬁ% fnis relodon 1o
juth et A= x4, hence £ i i eadn (ruoyjedive) jundeor

4

7,_{71’9? fmaw 0% wvia; mm F i Swapdible /
4,7}

_ m Jex %f(y) 4 Once again, g-@m. fos y>0

 Replacing 4 wikh () and Fg) widie 4y, wae ek ,
S (Y= W - Hence shu

o EER
%
»0  ton(L A3

e 4k tane=t



20 = 2ton® e = 3= 2t = 343t% 8t
o .
[ +tan0 4 12 5> 2l gr3=0 _
Lo o< | > t= 8:{64-40)= 4:(7
, & 3
Buk M}LQQ_:_A% which, umples thok  0<20< = (< B<IT
2 4
Agcw(__cun% , 0<tane < tan(ivy - 0 nB<1 = Q<tel

Tl = ; ' s — it " = - H
L fE 47 afpbe sgjeded | giving b= 1e03)= 4-F we

&

3. kA=) o K+ K+ 2_5_
x429 x 'X+g
. Y - A4y x :
. Appuying Ri=RitRt¥s | A= | 8x43y  3Bz43y  3x+43uq
. , 2y %
e t‘,’( X2




a= 3(x+y) | 1 x |  Applying (-GG ond G~ (3
K2y ko X4y /
')(Hd ")(-iQH X A= g(f)(*[é) 0 G |
Yy 4
Y 2y x
i Toking Ouk (Bnen 4y e Gy owck Y g@mbg)
é)‘PMd;ﬂg ahout Ry,

a= 3Ty [1(w2-h)] = 33yl
P

A= 3(ary) Yy’ o

- / (-1 ey

" 2 -
o A= q\éz(Wd, o

Taking viokixol togasithm bt sdes x 0gYy= y-x -——@/ -
“ Lol ' QY + = -1
Dperliotng WL ORA BT, e tegge A4 Bl
| :‘:; _c[t_&m 1—;@): f+ogy /
X 9




MRl i T u/
vy Y

me aqn 0, x= a = = QO P
e TG 4 (_*%‘ID% o
A W @, 0, 4= x(liogy)

dy - M
-] d% (1t Y (L& B

/:7 %% - h
L% Guen )= s °'(2”‘*‘3").M 2 (689 \

14 (o v 607/

. o der Gx: %Clﬂe

oting  wgx, e‘*me; wlp g6 —@®
Wm 3 9 | 56(9%?( =

- 'Pu,wm% et-tcme o eqMD {i(e): (w

S S




Thuy a_Cé(f(e):z Fdas Mulﬁpu#.ng and dxmding L1s by dx,
/

/’

GO dx - df@ di-2 > dfle) = 2.d0
- die) = 2.8

> dfm = d{MA( 23 = 2 6",wge
ax dﬁ.i( (“3&1 ) .&ECQGL /
— =
= Rugl) 6%=  2:€° Logé

{ + £ 136 _—— .
= (23 gt DAL
(H (3€)'x> ?

S —————————————

16 f)= | (ke -k Alsx<0 ]
. %,

%41 B G <\
x| ?
=5 )= i o= 2(0eR Al = 2nel = Omie A4 _—
= | e YO D 0-1
" L f(@= 0xt ="t | —
Q-1 ' '

o e e



#6)= tm F0-m)=  Lim  {I+kh —Vl-kh
hoe o TR
-

Maliplytng and duiding by TTKR (KR en b6t s e get

#o) = @Tﬁfhf =Y )(\Jlikh+\}|%kh)r = i 1+ Kh- (1-kh) | »

. (VTrkh + [T-kR) T h (T =R

fim kK s % - Zk=k
h0 TR ATER) 0 G 2/

Fo mabuidy  af %=0,  HO)=§O=#(O)

i

7.8

= -1=K _(ﬂé_ / | .
Z

der 1= [ 2
Jrlr'ﬁif?'xﬂ .
T L,},, 0%42) 42 dx = L 22 g+ j | dx
- J 2% %43 2} Ixmoxe3 J24 %43




dob  x42x43=t
= 2xi?2 ‘:dt > I= _L f dt e J ok
2

o _ Js P55 )
= 1.k + ) 0+ o a2) e = Oothitorgty ey tank

. e is [_dx -

B B (x543)

il = J dx f___J‘__ dx = J‘*ié Rt - .
) x(25(13345)) x& (143%7) 5+ -

dek  3xH\=t

H-— A =%m%@y o




A
L
="
5
as
W
e
>
<
¥
3
P(m
L
B
‘ >
'i'— T T AT e et e

: am
9. & I = [ I dx
I+ ¢ AN _

ting Uy o dejinike wegrab Aot 40 dt= | Ha-x)da, N
- 21 ot ,

I-:;_:" [ dr = J-__i_gdx-

14 g%

1 s (I0)="410

o
21
= | ! dx-=
.
ganx

e

AN
+ | €7 fx =

g 14 e%,kh?(.




D | o

So

o
| QO Guwn A= 1-]+7K
o b= si-Teak , , o
. Wing addiBe propedin of wdba,  @B= & (5r0T (1)) (ADE
= 61-2 +(A+HK

Ao -6 = (-8)T+ (1+0] s (7-0)K
= '437"' (?”?‘DR

Foo G+b t»be popendiadan g G-6,  (€+6)-(8-6)=0

> 244+ {49-A)+0=0
> A=15 |

> (60 EOR)-CaGRR)-0




2. det fwe Guan lnes be Ly and L, |
Lz 8 %3=y-2 - z¢44  @nd L= x-5= Y2 z-C |
] 2 2 3 2 6 .
Any poink 0(K) e N Ane L canbe expraned 08
P (K+8, 2k +2, 2k—4) —0 k=R
4oL oond L, oo mtmedin% (ond orw of (e yign -pasiallel) | Haon Mo
shauld be exadly one paint o wievedion | and » That case, snly sne |
yeol value 8 k- seudd peundt B exidence | thak padk eni,, 50 |
Aubstiising x4,z 84 L by PLY, We ek

e k42 |
) ki35 = k4242 . 2kk-4-0 k2o k= k2
3 2 6 3 3

e b TBue et k= A




i

e S
i

petpsiifiis

5

m. deb ELE, eed be awanty Wudm
Bl A o fo scheod In ime
€~ B emu i fumes
Gluan. P_(50=% ) PED=E . Al st B ond £, 0 mdependant guents,
we qek ple)-p(E)= plENE,)
2 plEink)=3-5= 15
¥ F 49
p(ony A cemm% mtome) = p(E) - plE1NEy)
= gt = 2-l5= 6 =pl®
7 49 49
Aoy p(enly 8 wming it time) = plE) —plEing) = 5 - 15 = 20 _=p(p)
7 49 :
ploawy edhwe A o 8 (ming mﬁ}ne) = ple0+plp)= 6 420 = V
45 79 49
/. ones semse 6 dixipline Dmpoue 4 fefshe  come 4o schesl in time.
"




Sz R oy pelik en M ellipae x%g 1 be

bz.

postomelucaily repasented. o (o030, Bsunh), - s (066, asin6)
PE)=  aese, baint) ﬁL ;
— O
\ :
'rhm asea e motongk/mﬁded m e Liqusce \*“ﬁxﬁé

A=kb - ‘
= (2ae0) (Qbfin@)/ :

A=1®)= 20b pnRO ) - .

Ueaqwy,  £(8) B MKMW ke AMN08 O max- re. 28=1 O B=1y

Usbng_olulis: A= He)= 20b 4120 ﬂ_@/

H(®)= 20b (9320 =£ ' N B
 f@=0 o 2 20=1 e 9:%,___ /

= -8aosn2y  f(va)= —gab<0_ S




/

-
\\ “ l//
})vm £O) 5 moaxomum af 8=, ~ !
Pubng  B=1V4 in n@,  # Ame” 20~ Ao A0, Wik Ang
Lo y U d L o7V oad  Ored,
. y=x \\ 1 Y= - Thwe shaded oo B FLQULR 7
! \ Anee bath x| and ¢ oo W«AC&L abauk
U,.\ . tu yoxis, tu terol ooea is tusice e oy one shaded posk
% Hance |
©,0 %
| ¥
A= sequead owa= 2| frde - [ofda]
| o e i
| - <9 [(rodw = 2[ X2




5. Guun (hrf'y-2) dy = (1ey?) de
Ldet ystand . dgs sefede €206 dB= (1+10070) o
L = %}6{9 dx
1 > dx +x=06
| de
e
I
\' , Tm 1 ahrmom c%wnuy/ equodian @Um rum _g_tg»fpté g
|
2" -
T
= u de;ﬁ,j)lwg by I en bath xdes | dx ee} fddn = gebdo
) > fdixe® = [oetde
y > %= %6 - [1.ebdo
= e
> x= b-1406”
Dl.d:b;ng hatk 6= tcm_‘g
L x=tady-l+ o€ ‘5/
w A %=0,4=0, o 0=0-1+ ce = c=1 o
b _ -
‘l k& = i ’t(lﬂ‘lj—'1+ P T

v




14y

"

6. &t B suqaoed e be L ¥
L poses thswugh  (,2,3) l= %= tAb;?: -3 —@ Qb be,anj B DR-s
| &t ne L
L & portalel 4 plones f and f, | and hence  pependiadast B B neimols
whaxe DR osw Kll}zpﬁttl V.QUé '%/Dr(—.b“[; and q,,b,, ¢ 0=l b=, (=2
P

e QZ:B;..bQ:‘D (=1
aa; +hb; + (¢, =0 =
Tm; { [ 1—// 1)2
: =  a-b+2c=0
and 3a+b =0
Using OcBss mxmphccbim m sl abe G=+b = C
-3+ 4

A




2:; let N and S be ue ewundy d&lttmd 08
| $— Bu coptain Qels the rumbes S Qnmadm
$=N- Hhe copton deu ek ger Hhae numbe 67 en the die
l = =z {-plS)= 5
@bu.uwwj pis)= Cmcl p(m) p(®=1-p L. /
Casel A ang , -
A Contuan B qel o 6 b B T h&kl.uuimg slocaser o passible

o 11';‘111'?“* i 'r* . Q.l"‘, = f',‘.'! o ‘h'.;‘lf S AL ;?; Y

5, NNS, NNMNS NNNNNMNG e

Tmmwm i‘hut %‘dfun $ ot et b.@ﬂriﬁ 28 lose and. Hhe next fung
Auwg, ond A0 on. E

R, b ahil e

psw)oabuzt% fou A g S

P = p©) + p@p(W) P+ (PN) PS) ¢ -

S A -

1ﬁ

AT
=




i ot

=

s

e e A U TSR Ak 2 ] :%M
Wwwfsm%%wﬁ%%#ﬂ«m’% i e et

ot +
. o

et A Wy €1 B ur

M.'/

o}, wang of A ttam i (6/u) s ML than

21
£g

, A0 pwap®=1 > pB)= I-pW= -6/ = §

1

 As It ocan be aeen, H dewson 6| rehwde  wWas net wroad  becouae px@bamlmg
: nn B (&/1)

et

x= mumbor of vinis 6] A
~ y=Tuumbe ©f wiks o] B

umkmxwwmd \‘emmam% ium,t%p\ 2

o % Wty o A =2x
Wk e M({}wud k&mmamn% QM%B—_B%

A0 ferok m%u@&m Wd—m«—?g

—

S

Thiy nundogt aveudd be o o o cquol o o 6} owailble wordkers re 30



= 91+3($530, =

ﬁumdahl.l} o et @q{Md ks e-k Cap\kc& = ?’K-Hé[

X
15

|
+ 4 £l ' / :
—(é’ !

e

(0 - |

Ty sedd be Aoy than o cqual 4o avallable ccxpml 46 , |

35
> Itys ¥ &

AWO, %20 and yz0

salisying  an fdoikoory peink (soy (0,6 i Fhune equabions, we gaf the
Aaded sagien . swte on exbenaum Mo en shwcppwmw we plek

0 toble {0 7 fov 4 pouli enly et

x
/3

e,

7

/4 0 |3 3
y 10 Q R
z otdel S6F H96€
1200 56F 1240

+%_:l , X +4=)_ %>0 and y=0, and

ﬂeww-t ncm}
+ 4 <l ’Am bk 7= 100«+2@t§q§r

17

ok dopl cannek be vegakiuel

- G U Y



Trno.

L W——




i A T

T Wit e ki s e

s

B



TR #ﬁ&kvf&'g J
! B |

R —

7Y

' .3 g
Thas, Py roueaue wdlk be moxunized i 12 wuls o B and #®e Uk ol A v
L m adwed  The covws panding  reuwuue b ¥ 2088 1260 T

S

oo R R
e e o~ —— —y

| v Ve, The monladiwsar 5 0 meble prGEn A fhinking thot- 9verm and. wwwomen ok,
( equathy apable 8| delng wuwdk and @ suth be paid equally.

29 det d}wnumb&c stdwdxd‘zm b@“’ tenesty,, hel}pin(} el ond mpmmom e
| xyondz sopedly W haue
| o _

1 -2 |

o  X+Y+z=12 > Ayrz=12 ek A=) L L] Be{2 ) BXx=iax
R 7773((4+z‘)_+2_7(:33 ’29(+39+32:33 - 2 83 3 ,

- %3 14 ]

\ 0 z]
g { o Hen AX=8 yualds the ojeamentiond equafion
[ . Xconbe eund &3 x=AB |

r ‘

P

l

i

!

|

\

e (340 - (2D (43)
- gr-7= 30 ¢ IAl#0 o Alexdl —




ii
i

0 -1
A* Qg4 A
| IA‘ dé
> 9(*3 4= 4 7=

e 3 awoodgos keuh&nwb} 4 \or wepordlien and 55@%»@%

Le&d&n,smp

ey o b%; an umwnt&nt quc&h(} Jok shoukd be nguded. s Gandor




